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TABLE 8.1. Green- Kubo relations for the transport coefficients in the form of Eqn (8.4.18)

K= Jm(l(t)J(O)) dt
0

K J(t) Name of current Eqn
d . .
D u,(t)= a—;xi(t) Particle velocity (7.2.8)
- d X Off-diagonal component of stress
Vks T o (1) = El u (1)z,(1) tensor (8.4.10)
N .
VkaT(n +0) (1) — PV=£l-m S u.(0)z(1)— PV Diagonal component of stress (8.5.13)
dt =) tensor
d N N
Vkg T?A J;’(t)=a y z,-(t){{;muf(t)+§ Y v[r,-j(t)]} Energy current (8.5.27)
i=1 ji
3*(BG/N d N, N
(“(—ﬁ_i/_)) D, j§(1)=—{(1"6‘) Y xy(D-c ¥ J'i.-z(‘)} Interdiffusion current (8.6.31)
ac PT dt i=1 i=1
d N
Vkg Tor JZ( ')=Z Y gqixi(1) Electrical current (7.8.10)
i=1

Note: ¢ = N,/(N,+ N,); q; is the charge carried by particle i.
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